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L. A surveyor wishes to find the distance from a rock on the east side of a river to a tree on the opposite

~ bank. On the east side of the river he locates a second rock 135 feet from the first one. From each rock
he measures the angle between the line connecting the two rocks and the tree. The angle from the first
tock is 87° ‘and fromi the second rock is 82°. Find the desired distance.
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2. Fmd the height of a g:a.nt helium balloon used in a Thanks—

- giving Day parade given that two guy wires are attached as
shown in the figure at the right.
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_ 3 Slnp A 15 72 miles from a lighthouse on the shore. Its bea.rmg from the hghthouse 1;-:N 15° E. Ship B

- +is 81 miles from the same hghthouse Its bea.rmg from the hghthouse 18 N 52° E. Find '}".he' number of
miles bel;ween the two shlps :

&-“‘ ﬁ -vé 2&%@&%
L n +3’r Z(?Z}{fﬁ»fm 37°

L4 order to determme the distance between two aircraft, a a
.. tracking’ station continuously deterimines the distance to each
““aircraft and the angle o between thein. Determine the dis-

tance betweeri the planes when o = 28°, b = 71 miles, and

e = 36 miles: ) _
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The course for a boat.race starts at point A and proceeds in the direction of §52° W to (€

point B, then in the direction S40° E to point C, and finally back to point A. The
point C lies 8 kllometers dlrectly south of pomt A Approxnmate the total dnstance

of the race course

: Orl a 'ccrta"m"hiap, Minneapolis is 6.5 inches dite west of Albany, Phoenix is 8.5 inches
from Minneapolis, and Phoenix is 14.5 inches from Albaz%ﬂg&wmmmﬂ -
N -

_a. Find the bearing of Minneapotis from Phoenix
b, Find the bearing of Albany from Phoenix.
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Math Analysis
&./ / é.4 Story Problems Name

1. A surveyor wishes to find the distance from a rock on the east side of a river to a tree on the opposite

~ bank. On the east side of the river he locates a second rock 135 feet from the first one. From each rock
he measiires the angle between the line corinecting the two rocks and the tres, The angle from the first
rock is 87° and from the second rock is 82°. Find the desited distance, ~ = -

2. Find the height of a giant helium balloon used in a Thanks
giving Day parade given that two guy wires are attached as
shown in the figure at the right.
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3. 'Ship A _is 72 miles from a lighthouse on the shore. Its bearing from the iighthouse is N 16° E. Ship B
is 81 miles from the same lighthouse. Its bearing from the lighthouse is N 52° E. Find the number of
miles between the two ships. .

4. In order to determine the distance between two aircraft, a a
tracking station continuously determines the distance to each
aircraft and the angle o between them. Determine the dis-
tance between the planes when o = 28°, b = 71 miles, and
¢ = 36 miles. :




- The course for a boat race starts at point A and proceeds in the direction of §52° W to { {:
pomt B, theni in the direction S40° £ to point C, and finally back to point A. The
“point C lies 8 kliometers dlrectly south of point A Approxlmate the total distance
of the race course.

On a certam map, Minneapolis is 6.5 inches due west of Albany, Phoenix is 8.5 inches
from Minneapolis, and Phoenix is 14.5 inches from Albany. . -
a, Find the bearing of Minneapolis from Phoenix. '

b. Find the bearing of Albany from Phoenix.




